Cadet College Wana

Jewel of South Waziristan Agency

Entranco Tost for Class 8"
11 Nov 2018

Paper English

Total Marks: 100 o Time: 1hr

Note:

Attempt all the Questions.

Q 1 Wiite an Essay of about 150 words on any ONE of the following. (20)

An ldeal Student
My Ambition

Q.2 Write a lotter to your cousin about the entrance exam of Cadet College Wana. (10)
Q.3+ Uso the following pairs of words into meaningful sentences. . (10)
Adapt, Adopt  Fair, Fare Bear, Bare  Except, Accept ~ Waste, Waist
Q.4+ Re- arrange the following into meaningful sentences. (10)
[, The please not do on grass step
Il Was porformance impressed with quite his |
M. Nature animal by is a social man
V. Born was he a silver with his in spoon mouth
V. Poople scores of the in died accident
Q.5:- Read the following paragraph carefully and answer the questions given at the end. (10)
Abraham Lincoln was not bron with a silver spoon in his mouth. He was born in a small log
cabin on February 12,1809, His father was a small peasant. He was a bird of passage as he did not
like to stay anywhere forever. So Lincoln could not receive formal education. Up till the age of forty,
Lincoln was least known personality in the country. However, he had a very strong urge to become
great personality. So his father brought him books from other people to read. At forty, he was a
failure, owing to his poor family background. But at 51, became the president of America.
Questions
l. What humble family background did Abraham Lincoln have?
Il How long did Lincoln take to make a mark?
I, Why was Abraham Lincoln a failure?
V. What was the father of Abraham LincoIn?
V. When did Lincoln become the president of America?
Q.6. Do as Directed (20)
| Those boys are very brave. (Rewrite as exclamatory)
Il She put some water into the dog's dish. (Identify the Tense)
. You did not help her. (Change the Voice)
V. This is the hole. The snakes lives here. (Combine the sentences)
V. Aslam is the tallest boy in the class. (Use the comparative form of the adjective)
VI. We enjoy our training session. (Change into Present Perfect Continuous Tense
VII.  It's a pleasant day today. (Rewrite it as exclamatory)
VIIl. It would help us if you gave honest opinion. (Use Proper Article)
IX. | was grieved his loss. (Use Proper Preposition)
X. She (go) to school (Use Proper form of Verb)
Q.7:- Translate the following into English. (20)
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Cadet Callege Wana

Jene] of Sauth Hagistar fger
Entrance Test for Class 8"
11 Nov 201%
Paper Mathematics
Total Marks: 100 ) Time: ih
Note: Attempt question 1 on the answer script.
Q.1:- Fill in the blanks. (20)
l. The additive inverse of —g
. f===1 thenx =
[ll. 1% of 1000 means
lv. The amount of price is reduced is called
V. If the length of one side of square is 0.5 m, then its arez is
VI. In21-4y + 3z. there are variables.
VIl. In aright angled triangle the side opposite to the right angle is called
VIIl. In an examination, Akram obtained 510 marks out of 850.Percenizge of marks
will be
IX. Redius of circle = 7cm, Area of circle = Cmé.
X. Ifangle A and B are complementary angles and m < A=70° thenm<B=___
Q.2:- Attempt any eight questions from the following. Each guestion carries 10 marks
l. If U= {1,2,3-------20}, A={2,4,6,8,10,} B= {1,3,5.7.9,11-—-19}
Find (i) AUB (ii)A"U B’
. IfA={aceg} B=1{ab,cd}C=1{bd,f, h}then prove that An(BNC)=(ANB)nC
[l. Verify:-
(-3X{(+2)+(-5)} = (-3) x(+2)+(-3)x(-5)
V. Soles(x—3)+== %(4x—3)+—
V. Facrotize
(i)4m?+8m+3 (i) a®+2a-8
VI. After 32 years from now, a boy will be 5 times as old as he was 8 years back.
How old is the boy now?
VIl What must be added to 2x*y3 - x3y? - 3x2y — 4 to get
S5x*y? + 2x3y? + x2y - 97
VIIl. - 25% loss on a mobile set is Rs. 475. Find cost and saie price of mobile set.
IX.  The area of a circle is 154cm?. Find the circumference of circle?
X.  Thelength of a rectangle is twice its breadth. Find its perimeter if its length is

12cm.
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Cadet College Wana

St Wazithi b

N Entrange Tast tor Gluss 4"
30 Nov 2014
N Paper Engllsh
TdalMaks: 100 fitnie, 1he
Note: Attampt all the Quastions,
Q 1.« Wiite an Essay of about 150 words on any ONL of the following. (24
l. Importance of Cducation
Il My Hobblos
Q 2:- Write a lotter to your sister advising hor to worl hard to prapiara for har azaminations (10)
Q.3 Use the following pairs of words into meaningful sentences (149
Looso, Lose  Losson, Lossen — Dow, Due Falr, Fare  Lole, Soul
Q 4= Re- arrange the following Into moaningful sentencos (10)

I Seldom bite barking dogs,

Il Story Is it truo a not

Il Enjoy can man a hoalthy life?

IV. Make, wo, flour, bread, with

V. Advice gave pieco he good of me a.
Q.5:- Read the following paragraph carofully and answor the questions glven af the end (14,
A tallor ran a shop In a bazaar. An elophant used to go to the river through the bazzar The ailor gase b
a bun every day. Ono day tho tallor prickad o noodlo Into the trunk of the elephunt. The elephant bedasme
angry but went away, On roturn, ho fillad his trunle with muddy water, On roaching the shop of the Lalor, te
put his trunk Into it and squirtod the dirty watar Into the shop of the tallor Al the fing and new drosses of tis

customers were spollod. Ho was vary sorry for annaying the alephant but It was 09 use orying ormr smit

milk
Questions
. Where did the elephant go evory day?
I, What did the tallor give him?
. What mistake did the elephant make ono day?
IV, What did the elophant do aftor drinking watar?
V. How did the elephant punish the tallor for hls mistiake?
Q.6. Do as Directed (20,
l. All angl ==eemssmemscmnnan wara prasont thoro. (1, Mo)
I Hassan is Junior--sss=seneveues Ahmed. (Than, From, To)
. They have been going to Zoo. (Chango tho sontonce into Interrogative)
V. The mother loves the children. (The undurlined waord s Noun, Adjactive, Verb)
V. He was Informods--=sse.-x my expaclod arrival, (Use appropriate Proposition)
VI. Mother has boon GookKing =«-s-weeeeus lwo hours. (Since, for)
VIl.  We heard a sound. ( Chango the sentence into Nagative)
VI, He had gone before | - smmmmen.e (Arrive, Arrivad)
1X. The Cat ran guickly. (The undorlined word s an Adverb, Adjective, Verb)
X Bravol We enjoyed tho foutball match. (The underlined word is a Conjunction, Interjection,
Preposition)
Q.7:- Translate the following Into English. (20)
A A wh 3 -
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Cadet College Wana

J/ Ay __,J.,

Entranco Tost for Class 8"

30 Nov 2019 S —
Paper Mathematics Roll No= L
]',Qt_nj Marks; 20 o _ Tame: 15mer
Section -A
Note: Attempt question 1 on the same questions paper. .
Q1:- Fill in the blanks. (20)
[, Let "A" , “B" and "C" be any three sets, then AU(BINC)=
li.  The expression which contains three terms is called
12\, 3 _
o (G5
Iv. -‘-':':—l =
X
V. If,2:X::5:10. Then X=
VI (at+b)? = a®+b? + :
VII. If A={ab,c,d}and U={a,b,c,d,ef}then A’ =
VIII.  The multiplicative inverse of——12 is
IX. The fixed rate of zakat in Islam is
X. A polynomial having two terms is known as
“otal Marks: 80 Time: 45 min
Section - B
Note: Attempt any eight questions from the following. Each question carries 10 marks.
2. IfU={1234,5,6,78910}A={1,3579}B={23,57}the verify (AnB) =A"ng’
3. If A={12,34}, B={1,56} C={5,6,7,8} then prove that AU (BUC) = (AUB)UC
4.  Prove that
2X(F-8)=(5x)-(2x3)
5.  Factorize, 9x*-25y?
x=2 _ x=7
6. . .
7.  Acow is bought at Rs 640,at what price must it be sold so as to gain 15% profit
8.  What must be subtracted from 3x*y? + 11 + 4x6y* - 6x%y to get
T+xtyxly 4 x6y*?
9. The Area of a circle is 172.1cm?.Find the circumference of the circle.
10. 130 men can construct a building in 120 days. How many men can do the same work
in 60 days.
11.  The length of rectangle is 12cm more than twice its width. If the arez of

rectangle is 169cm?, find the length and width of the rectangle.



10045

fé":,sza‘_!/_;/:’df"t

FelQ 24 1o

05

05

05

05

10

10
10

10
10

‘de‘iLf;{ﬂ/ﬂ'L’J/JJ-J/JVU"’ru— Y
LI O Lo tivizsir A
P se e £
/’:-L’ :(L"' v e Jo
- .wu LG Sarise oL S sar e
PPy T R O St [V RN (1
_u:‘d,u:iywu_;._up 0
NS A A A
_u:‘g._;';l 22 BN 5 a2
& wth oS T
I AIENGE UM S s L5 s e
tn/é:/_f‘ :U/Lu,)ft;.,l L ailF eyl .L'::U}.’JT «JL{/W)‘
-q,fu'l:.,'lJlu"’mu,f,y AESA Lah A
P E Sy S S e
-u_’/hg.'d;tﬁ&;iwa.y'.:-v_l_—_u,t_u:’gbru.f_ s P Al

-é’,—"{g}"(dh;f‘:_uJLUJ_i;/»‘ _Qﬁ}dly

_L_!Lﬁju:LU’- ------ g@tbfc/uu_ﬁ ------ L;f?t;u}:.’;l ------- DTV Ep R Y. 4
(g éu-_--é’uuszz,&.‘ ------ C Ay — R (1TH — 2§ sy

6 B -~ - A .
KU )ru.’,’;lﬁwl;-"u/ St A
ESLS v e L L

_J:"U,_»«Z;:ulfb’ "/"”l"u:‘ _J"-J-ﬁ}le‘

-g,_r/uy.:,_f.lJ;_/gJu_w.;f'uirtw-.,

s g

Y cr-:*,._uu»__du Ce sl

- -‘-L;:—:?'J?'/‘-‘duwl-v



Cadet College Wana

South Waziristan

Entrance Test for Class 8"
03 Jan 2021

. Paper English

" Total Marks: 100 Time: 1hr
Note: Attempt all the Questions.
* Q.1:- Write an Essay of about 150 words on any ONE of the following:- (20)
l. Importance of Sports
Il My School life
Q.2:- Write a letter to your friend telling him about your sports activities in the school. (10)
Q.3:- Use the following pairs of words into meaningful sentences. (10)
Dose, Doze Meat, Meet  Bear, Bare  Poor, Pour Brake, Break
Q.4:- Re- amange the following into meaningful sentences. (10)
|. quite, you, keep, can?
Il. Me, your, pen, lend, you, can?
Il. Important, games, studies, are, as, as.
IV. Was, performance, impressed, with, quite, his, |.
V. Make, week, a, days, seven,
(10)

Q.5:- Read the following paragraph carefully and answer the questions given at the end.
“About sixty years ago the question of choosing a profession was not taken up seriously. A son gradually
followed the trade of his father. But now a day’s one can take up a trade one likes. The students who make
right choice of profession are always successful. For the right choice of a profession there should be some
definite aim. The students who do not have any definite aim and suffer a lot in the end as they have also a
difficulty in finding as employment. In choosing a profession the teacher and the parents play a very

important role the teacher keeps an eye on his pupils. He studies their habits. So he can put his pupils on
the right path of life.
Questions
l \What were the conditions about the choice of a profession sixty years ago?
Il Why did the people not choose the profession seriously?

L. What is the advantage of right choice of a profession?
V. How can a student choose his profession rightly?

V. Can a student of the present times choose his profession freely?
Q.6. Do as Directed (20)
1. Don'tbeataroundthe ___ come to the point. (bush, drum)
1. There is no solution this problem (for, to, of)
. | believe what you say. (to, by, in)
V. It rained yesterday. (change into negative)
V. They cleaned there rcom. (correct it)
VI. He went to school (change into negative)
VIl.  Your pen writes better than . (her, hers). Use the correct personal pronoun.
VIll.  Heis ashamed his behaviour. (use appropriate preposition)
IX. He has been playing cricket 2 o'clock. (since , for)
X. Asim anc were present there. (me, 1)
Q.7:- Translate the following into English. (20)
1! : 7 (= L [ &
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Cadet College Wana

_South Waziristan
Entrance Test for Class 8" -
03 Jan 2021 Name=
Paper Mathematics Roll No=
Jotal Marks: 20 Time: 15min
Section -A
Note: Attempt question 1 on the same questions paper.
Q.1:- Fill in the blanks. (20)
l. The multiplicative inverse of - -:: is
li. . The square of an even number is number.
lIl.  The area of a square whose length of one side is 2m is
V. (@+3)(a-3)=
V. A Set which contains all the possible elements of the sets under consideration is
called set,
VI.  Profit % =
VII. A"UA=
VII. 1f10:25=x:20thenx =
IX.  Aline segment joining two points on a circle is called
X.  The additive inverse ofg is
Total Marks: 80 Time: 45 min
Section - B
Note: Attempt any eight questions from the following. Each question carries 10 marks.
2. If U= set of whole numbers, N = set of natural numbers then prove that N'NN = ¢
24 7 14, _ , 24 7 24 14
3. Prove thatEX(E'*‘?)—-(Z;XE)‘F(TgX?)
4. Factorize:
(i) - y2+ x - Xoy? (i) 16x% - 40x%y? + 25xy°
5.  Ifthe area of a circle is 196m?. Find the radius of circle and its circumference.
6. The ratio between the measures of three angles in a triangle is 1:2:3 find the
measure of each angle.
7.  Simplify. (x? —=9) (6x? —5x +4)
If 21 workers complete a project in 25 days. In how many days 35 workers will
complete the same project?
9.  What is the smallest number that can be subtracted from 7941 to get a perfect
number?
10.  Shama's Annual saving is Rs.222,000 what is the amount of zakat to be paid by her?
11.  Ali bought a motorcycle at Rs.35000. At what price must it be sold so as to gain

25% profit?



w,é&w‘[
QU pyg (o gis

Fleslas_ o Q0

Feri $u2 1

/’
Yy
1004 PR

LIl L F 24z B0, o s f S S ey Bl
SISO Lesiysssctir Lo Ay
05 Sl iy £S5
bV s mk ol
05 -wf%éc’-mc‘&ur-u:ww-.w -
SRRV 7
05 A L
JERY TR T R) 45
05 -u:‘ﬁ S LB 5 a0
S i
10 SIS ise S saee ot A iy
idgd WEL W e dne et axnbiiids

10 BYYJSY I (70T e PR T T T R 1
10 -QJJ@/:IQ/béfg(ubﬁ*J}A’ULJJ/"(I -

10 eSS i o Linfy, St e tonszr g™ Ju;;.n Ay

10 ES WS Lot iz o7y
---------- b2t PSS Mooty U il wommee g tomenne P17 L e
---------- LG v ST R SOy W g

10 K p g i A
iy e sl

10 -J."'G.z/"wb'g(”,-‘”"‘.-m-_ﬂl )y
10 LS et s

ot i
10 -J:”6¢.:74J.57 Lyt dw’;-.ﬂl
10 -g_fd&jg/_-:li(}.xwJr(;fé;JJIuI;I/"I{_JI}JQUI(kKl,;t'uf-..f



Cadet College Wana

South Waziristan
Entrance Test for Class 8"
20 Nov 2021
Paper English
Tolal Marks; 100 _ Time: 1hr
Note: Attempt all tho Quostions.
Q.1:- Write an Essay of about 150 words on any ONE of the followings:- (20)
Q. Hoalth Is Woealth
b. Qualities of a good student

Q.2:- Write a letler lo your father, asking him to send you some money for books and other necessary things. (10)

Q.3:- Use the following pairs of words into meaningful sentences. (10)
Road, Rode Sand, Send  Advice, Advise  Pore, Pour Weak, Week
Q.4:- Re- arrange the following into meaningful sentences. (10)

a. of, is, he, fond, tea

b. us, best, the, hope, let, for
c. best, is , honesty, the, policy
d. begins, at, charity, home

e. angry, was, with, he, me

Q.5:- Read the following paragraph carefully and answer the questions given at the end. (10)
Mostly people destroy public property because they want to express their anger and frustration. When
people are angry about something they organize a protest, they burn and destroy public buildings, buses
and trains. This causes many problems for people. As they cannot reach their offices or schools in time,
many valuable working hours are lost. This causes great loss to the country.

Questions

a. Why do people destroy public property?
When do the people organize a protest?
What problem is caused by this protest?
Who cannot reach their offices?
How a protest can be a loss to the country?

®a0o

Q.6. Do as Directed (20)
He showed generosity even to his enemies. The underlined word is (verb,noun,adjective)
| disliked the idea of making omelette.(change into negative)

He speaks ill of others habitually. The underlined word is (none, verb, adverb)

The patient is confined bed forever. ( to, with)

Though | tried hard, | solve the puzzle. (didn't, couldn't)

There is no solution this problem. (for, to)

Our team winning. (is, are)

He is junior me. (to, from)

| always go to work train. (by, on)

She learnt her lesson. (change into interrogative)

T Tgae ~Paoow

Q.7:- Translate the following into English. (20)
_u;cﬂff:,/.b’?,ﬂj: 2 -if_/icétfﬁ -1
_J{ﬂ’jl‘{__gﬁ,";{T 4 (-'u_?";zlerl:l@(ug =3
IAKESz 3 6 SV IT S TR
-gt::f,)bc__;}/szf -8 _u(;ud/lf:"_u’."' -7

WLl 10 pE S By 9



Total Marks: 20

Cadet College Wana

South Waziristan

Entrance Test for Class 8" -
20 Nov 2021 Name=__
Paper Mathematics Roll No=

Time: 15min

Note:
Q.1:-
a.

J e ™ 0 g 0 T

Section -A
Attempt question 1 on the same questions paper.
Fill in the blanks. (20)
The additive inverse of -10 is

The square of an odd number is

The ratio b/w the circumference of a circle and its diameter is called
If A={3,6} then all the possible subsets of A=

In the proportion 2:5 = 4:x the value of x=

A set comprising all the possible subsets of any set is called

Volume of a cylinder =

Intersection of a set and its complement is the set.

The rate of ushr for canal irrigated land is

If the sum of two angles is 180°, then they are to each other.

Total Marks: 80 Time: 45 min

Note:
2.

11.

Section-B
Attempt any eight questions from the following. Each question carries 10 marks.

[HVETE [ J— 20}, A= {2,4,6,8,10} and B={1,3,5,7,9,11,13,17,19},
Find (i) (ANB) (ii) A'NB’

vty =4+

A sewing machine was purchased for Rs 6000 and sold for Rs7000. Find profit or
loss percent.

Subtract the sum of 4x+6-2x2 and 3x? - x3-3 from the sum of x3+ x? - 2x

and -2x3+3x-7.

Arrange the following rational numbers in descending order. 1§,
Simplify x(x2+y2-1) + y (y%-x% + 1) — (x-y) (x? + y?).

Construct an equilateral triangle whose altitude is 5 cm.

Factorize the following:

(i) y? -6y+9 (i) 16 -24x + 9x?
Solve the following equation.

3y+1 _ 3

2y+1 4

“lw

1'5 )

YRS
N
niN

Age of mother in 3 - times the age of her daughter. After 4 — years, the sum of
their ages will 60 — years. Find their present ages.
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Cadet College Wana

South Wazinstan

. Entrance Test for Class 8"
12 Nov 2022
Paper English
Total Marks: 100 Time: 1hr
Note: Attempt all the Questions.
Q.1:- Write an Essay of about 150 words on any ONE of the followings:- (20)

a. If | Pass the Entry Test of Cadet College Wana
b. The Evils of Mobile Phone

Q.2:- Write a letter to your brother advising him to take steps to improve his health. (10)
Q.3:- Use the following pairs of words into meaningful sentences. _ (10)
All together, Altogether, Canvas, Canvass, Decent, Descent, Gamble, Gambol, Wave, Waive
Q.4:- Re- arrange the following into meaningful sentences. (10)
a. The please not do on grass step
b. Was performance impressed with quite his |
o] Nature animal by is a social man
d. Born was he a silver with his in spoon mouth
e. People scores of the in died accident
Q.5:- Read the following paragraph carefully and answer the questions given at the end. (10)

About sixty years ago the question of choosing a profession was not taken up seriously. A son gradually
followed the trade of his father. But now a day's one can take up a trade one likes. The students who make
right choice of profession are always successful. For the right choice of a profession there should be some
definite aim. The students who do not have any definite aim and suffer a lot in the end as they have also a
difficulty in finding as employment. In choosing a profession the teacher and the parents play a very
important role the teacher keeps an eye on his pupils. He studies their habits. So he can put his pupils on
the right path of life.

Questions
a. What were the conditions about the choice of a profession sixty years ago?
b. Why did the people not choose the profession seriously?
c. What is the advantage of right choice of a profession?
d. How can a student choose his profession rightly?
e. Can a student of the present times choose his profession freely?
Q.6. Do as Directed (20)
a. She is the girl whom | met in Lahore. The underlined word is (Adjective, Pronoun, Verb)
b. He drew his car very fast. (Change into interrogative).
c He was not aware my difficulties. Use proper proposition (from, of, with)
d She to school an hour ago. Use proper form of verb (go, went, gone)
e The book was not available then. The underlined word is (verb, adverb, adjective)
f. You have not bought apples. Fill in the blank with correct adjective (some, any nothing)
g Will the deer have been shot at? Change into negative.
h The boys are throwing stones at the dogs.(change into past indefinite tense)
i. The plural of “* Goose" is (Gooses, Geose, Geese)
J. Cat is a loving animal. Use proper article (a, an, the)
Q.7:- Translate the following into English. (20)
-q_uﬂjnJ/LJbJuf!‘ -l _u’!g./' f:"b'l.':__lf: w1
...L;;.}.'Jlk&/; 4 ?:;_..:;_/ngt;:u.’i/:! -3
-:J,v.if_"/,;ub(b/t-’@f -6 -VC"T-;J}VGD;: -5
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TolalMarks: 20 e Time: 15min
Sectlon -A

Note: Write down the answers of Q1 on the answer sheet.

Q.1:- Fill in the blanks. (20)
A It A and B are disjoint sets then ANB =
b. Ohas ) reciprocal.
c. 2'x3=
d.  The square root of 121 is
2 In x+5,5 is called L
i X+2x+#3isa___inonevariable.
a.  The solution set of ; =2is o
h. The value of x of & linear equation 3x ~10=2is ___
I The additive inverse of “Lig
j. The Qquarc, of a proper fxar‘tlon is . then itself.

Total Marks. 80 Time: 45 min

Section - 8

Note: Attempt any eight questions from the following. Each question carries 10 marks,
2. IfU={1.23 e 90}, A= {13,579} and B={2,4,6,8,10},
Find (i) (AUB) \u) A ne’

1
,._X

4, Simplify 2 X (- })’MWb’
3 XIX62x(=5)!
5. A missile hit a 3000 km distance target in 45 minutes. Find the speed of the

missile in km/h.
6. The markup on a principal amount is Rs. 820 for 6 months at the rate of 12.5%

per annum. Calculate the principal amount.

~ e

3. Verify - x (; )

m|ru

7. Simplify x(xfy21) 4y (02?4 1) - (x-y) (2 + y?),
8.  Factorize lhe foliowing:
(1) 4y’ +12 xv +9y" (i) y* - 6y+ 9

10.  Age of a mother is 3 times the age of her daughter, after 4 years the sum of their
ages will be 60 years. Find their present ages.

11, The height and radius of a cylinder are 3 cm and 1.5 cm respectively. Find the
surface area of the cylinder.
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Total Marks: 80 Time: 45 min

Section-B (Marks=35)

Q.2 Write brief answers to following questions. Each short question queries five marks.

a. What is the function of villi? How does their shape help in performing this function? (05)

b. Water is an excellent solvent, How this beneficial property is harmful for us? (05)
c. Why cation carries positive charge? (05)
d. Suggest why convection cannot happen in solids? (05)
e. Explain the phenomenon of “mirage”? (05)
f. Explain food chain with examples? (05)
g. Differentiate between atomic number and mass number with examples? (05)

Section-C (Marks=45)
Q.3 Write answers to the following questions in detail. Each question queries fifteen marks.

a. Define pollination. What are different agents of pollination? (15)
b. Define isotopes. Discuss the isotopes of hydrogen? (15)
c. Explain refraction of light, its effects and laws of refraction? (15)
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Total Marks: 100 - "
Note: Attempt all the Questlo ns.

e : ~ __Time: 1hr
Q.1:- Write an Essay of about 150 worcis on any ONE of the followmgs : I R
. a. Importance of Morning Walk 20"
b. Why | love Pakistan? |
Q.2:- Write a letter to your friend inviting him to the marfiage of your elder brother. |
| (10)
Q.3- Use the following pairs of wortis into meaningful sentences BRI R |
Brake, Break, Profit, Prophet, Sole, Soul, Role, Roll Rem Rain X (10)
Q4- Re arrange the following into meanmgful sentences o ' R
a. Played, Cricket , he ,not had. . o : R Sk (10)
b. Do, Romans, The; do, as. SPTRE
c. Is, Cleanliness, our, faith, of, half | _
d.  Your, and, parerits, teachers, obey. - o .
e. - Precious, your, time, waste, not, do.

Q.5:- Read the following paragraph carefully and answer the quéstions‘given at the end. (10) °

A man is known by the company he keeps. A good student should avoid the company of those who keep
playing all the time. Many students miss their classes and seldom do their homework because some other
fellow students do the same. There are hardworking students also who work while others play They know
when to study and 'when to play, They play when it is time to play ‘They enjoy the games of their choice
' because they know that playing games is essenhal for health A sick student is not so quick in Iearnmg his ‘
lesson as a heatthy one. A : :

Questlon - N Ve
. a. . Whatkind Qf company should a good student keep?

Why do some students miss their. classes?
Why do good students enjoy good health? -
Why are games n'ecessary for students? '
‘Where does the success of a student Ile’?

a0 U

QG Do as Directed - ' L ‘ (20)
Everyone was present in the class. The underline word is (Adjectlve Noun Pronoun) ' ‘

She is senior : me. (than to, from) "
Are !hey making plans about future? (Change into present perfect tense)

" Whata lovely scene! (This sentence is statement; Interrogatlve exclamatory)
Write the 2™ & 3% degree of Bad__- - : s
Write the opposite of light___ _ : . '
He was gunty : stealing. (Use Preposut:on)
You are very clever boy. The underline word is (Adjective, Verb, Adverb)
He has been writing the last three hours (Slnce for)
They enjoy there party (Correct it)

o Ta@’™e a0 oo

‘Q.?.:-Transla‘tetheAfollowmg into Engllsh - | : . -l | 7(20) '
-a_)u“(:‘”iufué”_l' ._'2' e RS -‘L-d%&g'-{'dk_m % I
BTy 7 5. MR e unSalii 3
-ﬁ—P/J‘: Sl . 6 S kBl
.-U”.L:(”J.[;U:CJ.G"U; ‘-8" PR ,-99/(,2(3'»:.0::-‘0%/, R,

cihlegdu 2 10 - e Jrr- -9
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paper General Science

Section-A

0 Time=1Hrs
Mark:uempt question1 on the Answer Sheet provided to you,

Note:

Q.1:- Fill in the blanks. (20)

. .

——— "

b' .
c. The distance in space is measured in

d. Coastal breeze is produced by
e. The basic unit of structure and function of nervous system is

f. In an echosystem the energy flows is always
g. The exchange of gases between blood and air takes place at

h. Respiratory system related diseases mostly spread through

i. The smallest particle of an element is

j- The mélting point of ice is

Q.2 Write brief answers to following questions.

a. Water is an excellent solvent. How this beneficial property is harmful for us? (05)
. Which chamber of heart has thickest walls and why? ' (05)

b

¢. There is no rain fall for two years in an echosystem.What will happen to consumers? (05)
d. Which substances are transported by blood? (0%)
e

. An atom has atomic number of 8 and a mass humber of 1€3, determine number of protons,

Electrons and neutrons present in it.

(05)
f. What is the difference between saturated-and unsaturated solution? (09)
9. Suggest why convection cannot happen in solids?

(05)
Section-C (Marks=45) |

uestions in detail
a. Define fertilizers? Discuss their role in a

of fertilizers.

Q.3 Write answers to the following g

griculture and hérmful effects due to improper use
(15)

ynthesis and respiration in detail? | (15)
ve water

b. Differentiate between Photos

c. Whyis it important to conse

in Pakistan? Sy jest few ways for water
conservation. gg .‘ y

(15)
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21 Oct 2023
‘Paper Mathematics

otal Marks: 100 : -~ .
Section -A . : -——Time: 1 Hrs _
Note:  Write down the answers of Q1 on the answer sheet provigeq to
2.1:-  Fillin the blanks. ; you,
a. The product of a Rational Number and its reciprocal is - (20)
b. is the reciprocal of itself. S
. Whatis the value of omiey =7
C. at is the value of -——5= =
d. A proper fraction is always less than B
e. Pi(m) is the ratio between '
f.  1x(100)°=
g (-23) (4x°)=
h. 28 is the square root of
i The rate of Ushr for barani {and is - percent,
j.  The triangle having one angle greater than 90°%is called__-- triangle.
| Section - B
Note:  Attempt any eight questions from the following. Each question carries 10 markas.‘
2. IfU={1,2,3-----—- 10}, A= {1,3,5,7,9} and B={2,4,6,8,10},
Find (i) (AUB) (ii) A NB’
1
3. Verlfy-x(— ) S X +5x—6
4.  Write 0.8888 ___as a fraction in simplified form.
5. The area of a square shape room is 144m?. Find the penmeter of the room. Also
firrd the cost of chips flooring of the room at the rate of Rs. 25/m?.
6. (i) Factonze 45a2 60a+20
(i) Solve - x+——x+-
7.  Apainter can palnt 25Om2 waII in 8 hours. How much time will be required to
Paint 3000m?.
8. If“4"is subtracted from twice a number, the result is 10. Find the number
9. = Two supplementary angles measure (3x+5) and (9x -5). What is the value of “X
10. Alrraspge;he following rational numbers in ascendmg and descending order.
13:.5+95%, 4%
11.- Find the solution of 0.8x + 0.25= - 0.1x + 0.7 also find the verification.
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